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Q1 If SQUARE is coded as TSXEWK, then TRIANGLE will be codedas .
Ans - X 1. UTLESNSM

X 2. UTLFSMSM

X 3. UTLESMSN

v 4. UTLESMSM

\{UCbLiUII o . JoJooUOo1l&50
‘ Chosen Option : 1 ’

Q.2

U, V, W, X, Y and Z are seated in a circle facing the centre such that each one is facing another one. X is between Z and
V.47 sece= #9 the left of X and second to the right of Y. Who is facing X?
Ans “XT1Y

vow
X3 U
XaZ
Qucaliun D . JoJoovaol4ars
| Chosen Option : 4 ’

Q3
Select the fraction that will next in the following series.

Ans 2 87790 11" 13
113
X
K213
14
!(314
15
K414
16

QuebliUll ID . Y6J090Uo1loZ
‘ Chosen Option : 2 ’

Q.4




The statements below are followed by three conclusions labeled I, II and III. Assuming that the information in the
statements is true, even if it appears to be at variance with generally established facts, decide which conclusion(s)
logically and definitely follow(s) from the information given in the statements.

Statements:
All balls are boats.
All boats are cars.
Conclusions:
1. Some cars are balls.
II.  Allballs are cars.
III.  All cars are balls.

Ans - X 1. All the conclusions follow.
2. Only conclusion III follows.

3. Only conclusions I and II follow.

4. Only conclusions IT and III follow.

Question ID : 9895808150
Chosen Option : 1

Q5 Select the number-pair that is different from the rest.
Ans of 17345

X2 5-125
< 3 9-720
X4 3-27

Question ID : 9895808155
Chosen Option : 2

Q6 Select the option in which the given figure is embedded.

Ans

F 0

F )
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Question ID : 9895808159
Chosen Option : 2

Q.7 Four words have been given out of which three are alike in some manner, while one is different. Choose the odd one.
ans of 1 Volt

< 2. Power

< 3. Volume

/< 4. Force

Question ID : 9895808141
Chosen Option : 2

Q8 Select the word-pair that is analogous to the given word-pair.

France : Paris

Ans - X 1. India : Mumbai
v 2 Cuba : Havana
# 3. Iran : Rial

# 4. China : Yuan

Question ID : 9895808143
Chosen Option : 1

Q9 Select the number that DOES NOT belong to the following group.

3,6,9, 12, 15, 18, 21, 24, 28, 30
Ans X130

V2 28

X3 15

X4 18

Question ID : 9895808153
Chosen Option : 1

Q.1 A square transparent sheet with a pattern is given. Select from among the four alternatives how the pattern would appear
O when the transparent sheet is folded at the dotted line.

Ans -




W 3

5 a
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Question ID : 9895808162
Chosen Option : 3

Q.1 Six friends. P, Q, R, S. T and U, are sitting in a closed circle facing the centre such that each one is facing another one. P
1 isfacing S. R is between P and Q. U is between P and T who is sitting right of S. Who is sitting to the immediate right
of R?

Ans X' 1§
X2T
X3P
v:Q

Question ID : 9895808148
Chosen Option : 2

Q2'1 Select the correct option to complete the following pattern.

N
7]

kS
/
L
x|

Ans

>
2

A/

[ Question ID : 9895808160




l Chosen Option : 4

Qél Select the Venn diagram that best illustrates the relationship between the three given classes.

Flowers, Red, Clothes
Ans

F 0

0@@0

Question ID : 9895808163
Chosen Option : 1

Qd'fl Which two signs need to be interchanged to make the given equation correct?

100+~ 10 x 100 — 10 + 100 =910

Ans of 1.+ and —
?(2. +and +
X 3 xand—
K 4 +and x

Question ID : 9895808156
Chosen Option : 2

Q.1 Select the option that is related to the third term in the same way as the second term is related to the first term.
5

‘Where : Place : : When :

Ans X 1. Why
/< 2. There
v 3. Time
/< 4. Then
Question ID : 9895808144
Chosen Option : 2
Q.1




Select the option that is related to the third number in the same way as the second number is related to the first number.
9:100::13:_
ans X1 130
X 2. 169
X3 144
v 4 196

Question ID : 9895808154
Chosen Option : 1

Q.1 Four pairs of words have been given, out of which three are alike in some manner, while one is different. Choose out the
7 odd one.

Ans X 1. Brother : Sister
& 2. Lion : Lioness
< 3. Cock : Hen
v 4 Bear: Cub

Question ID : 9895808142
Chosen Option : 1

Q.1 Choose the option that most closely resembles the mirror image of the given word when mirror is placed at right side.

8
AIM

Ans  of 1. MIA
X 2. WIA
X 3 AIW
X 4. AIM

Question ID : 9895808161
Chosen Option : 4

Q.1 Read the given statements and conclusion carefully and decide which of the following options is true with respect to the
9 given conclusion.

Statements:

The Gateway of India is in Mumbai.
Mumbai is in India.

Conclusion:

The Gateway of India is in India.

Ans 1. Probably false

v 2 True
3. Probably true

& 4. False

Question ID : 9895808151
Chosen Option : 2

Q.2 Diya have five subjects in her academics namely A. B, C, D and E. She studies them from Monday to Friday of a week.
O On each day, only one subject will be studied. D or E should not be either the first or last to be studied. E should be
immediately followed by C. B should be studied immediately after D. One subject will be studied between A and B.

Then which subject she immediately reads after Monday?

Ans “1, E
X 2B
X 3D




Question ID : 9895808149
Chosen Option : 2

Q2 Select the term that will come in the following series.

PC,RF, T VL, XO,
Ans X 1. YQ
v 2 7R
X 3 YR
X 4 ZQ

Question ID : 9895808139
Chosen Option : 1

Q2 Identify the odd one from the following.

Ans X1 HIL
X 2. PRT
X3 VXZ
v i CFG

Question ID : 9895808140
Chosen Option : 2

Qéz Select the figure that will come next in the following series.

@]

&1918] -

Ans

r 48

:
8
3

<€

B




Question ID : 9895808158
Chosen Option : 1

Q.2 In the following number series, two numbers have been put within brackets. Study the series carefully and select the
4 correct alternative with respect to the series.

1, 1,2, 6, 24, (121), 720, (5040), 40320

Ans « 1.

The first bracketed number (from the left) is incorrect and the second is correct.

& 2. Both the bracketed numbers are incorrect.
< 3. Both the bracketed numbers are correct.

F

The first bracketed number (from the left) is correct and the second is incorrect.

Question ID : 9895808157
Chosen Option : 2

%? If D=3, G=6, and FUN = 38, then PRESIDENT=_____ .
Ans - X' 1110

X2 119

< 3.100

v 2 101

Question ID : 9895808145
Chosen Option : 2

Q.2 The production of a commodity through natural process is an activity associated to which sector of the Indian Economy?

6
Ans 1. Primary

2. Secondary

/X 3. Quaternary
4. Tertiary

Question ID : 9895807212
Chosen Option : 1

Q7-2 ‘Theyyam’ is a popular dance form of which of the following states?
Ans of 1. Kerala
2. Manipur
3. Gujarat
X 4. Karnataka

Question ID : 9895807203
Chosen Option : 1

Q2 Riboflavin present in fish is also known as:

Ans - X 1. Vitamin K
v 2 Vitamin B2
/& 3. Vitamin B12
& 4. Vitamin C




Question ID : 9895807218
Chosen Option : 4

Q.2 ‘Azadirachta indica’ is the botanical name of which evergreen tree found in the Indian sub-continent?
9

Ans X 1. Pine tree
X 2. Curry tree

/< 3. Hibiscus tree
« 2. Margosa tree

Question ID : 9895807219
Chosen Option : 1

st Which disease among the given options spreads via pigs?
Ans 1. Nipah
X 2 Zika
3. Plague
v 4 Swine flu

Question ID : 9895807221
Chosen Option : 1

Q1-3 The movement of a horse drawn carriage is an example of which principle of physics?

Ans 1. Avogadro’s law

v 2. Newton’s third law of motion
& 3. Ohm’s law
4. Archimedes principle

Question ID : 9895807217
Chosen Option : 4

Q2-3 The festival of ‘Hareli’ is celebrated in which of the following Indian states?

Ans 1. Punjab
2. Madhya Pradesh
3. Chhattisgarh
X 4. Odisha

Question ID : 9895807204
Chosen Option : 1

Q.3 “Vijay Amritraj® was a legendary Indian player associated with which of the following sports?
3

Ans 1. Rifle shooting

v 2. Tawn tennis
& 3. Badminton
4. Swimming

Question ID : 9895807206




l Chosen Option : 3 ]

Qf Which mountain pass in the world has the highest motorable road in the world?
Ans 1. Dhungria-La
& 2. Jelep-La

& 3. Nathu-La
4. Shipki-La

Question ID : 9895807223
Chosen Option : 4

Q.3 What is India’s rank in the World Bank’s Human Capital Index (HCI) rankings as of Feb 2019?
5

Ans X1 104
X2 124
vz 115
X 4 126

Question ID : 9895807224
Chosen Option : 1

%3 Who is the cofounder of IndiGo Airlines?
Ans 1. Pawan Munjal

+ 2. Rahul Bhatia
3. Kiran Majumdar Shaw

& 4. Y C Deveshwar

Question ID : 9895807208
Chosen Option : 2

Q7'3 Which city will host the upcoming Winter Olympic Games scheduled in 2022?
Ans X 1. Paris

2. Beijing

3. Los Angeles

4. Tokyo

Question ID : 9895807207
Chosen Option : 1

Qé3 As of January 2019, what is the number of articles in the Indian constitution?

Ans X1 43]
v 2 448
< 3402
X 4395

Question ID : 9895807214
Chosen Option : 3




9
Ans X 1. Adam Smith

# 2. Milton Friedman
< 3. John Nash
4. John Maynard Keynes

Question ID : 9895807211
Chosen Option : 2

¢ In which layer of the earth’s atmosphere is the ozone layer found?

Ans 1. Troposphere

N

- Stratosphere

w

. Mesosphere

SN

. Exosphere

Question ID : 9895807220
Chosen Option : 2

Ql-“ What was the capital of the French colony in India?

Ans  of 1. Pondicherry
< 2. Cochin

X 3. Goa

& 4. Calicut

Question ID : 9895807227
Chosen Option : 1

Q2-4 Which famous Indian personality is the founder of ‘Paani Foundation’?

Ans 1. Ranveer Singh
# 2. Salman Khan
< 3. Shah Rukh Khan
v 4 Amir Khan

Question ID : 9895807210
Chosen Option : 2

Q.4 With the commencement of the 7th century, who ascended the throne of Thaneshwar and Kannauj?
3

Ans o 1 Harshavardhana
& 2. Krishnadeva
3. Rajendra Chola I

4. ChandraGupta II

Question ID : 9895807225
Chosen Option : 2

Q.4 ‘The Legend of Laxmi Prasad’ was the title of a book written by which one of the following authors?

Ans 1.




2. Jhumpa Lahiri

& 3. Shobha De
v 4 Twinkle Khanna

Question ID : 9895807209
Chosen Option : 2

Q54 The National Food Security Act was passed in which of the following years?

Ans - X1 2012
v 2. 2013
X 32011
X< 4 2014

Question ID : 9895807213
Chosen Option : 2

Qé4 ‘Talatal Ghar” is a historical monument situated in which of the following Indian states?

Ans o 1. Assam

2. West Bengal
5 sikkim
< 4. Odisha

Question ID : 9895807205
Chosen Option : 3

Q.4 The Consumer Protection Bill, 2018 has replaced the Consumer Protection Act of which of the given years?
7

Ans X1 199]
v 2. 1986
& 3. 1981
X 41978

Question ID : 9895807215
Chosen Option : 1

Qé"' Which among the following is the longest river in South India?

Ans  of 1. Godavari
& 2. Narmada
3. Tungabhadra

& 4. Krishna

Question ID : 9895807222
Chosen Option : 1

Q.4 ‘Tulsidas’, a poet who lived during the medieval times of Indian history. wrote ‘Ramcharitmanas’ in which of the
9 following languages?

Ans - X 1. Sanskrit
X 2 Pali
v 3. Awadhi
< 4. Prakrit




Question ID : 9895807226
Chosen Option : 1

Q(-)5 As on 2018, which is the world’s largest political party in terms of primary membership?

Ans 1. National republican Party US
' 2. The Bharatiya Janta Party
3. The Democratic Party of the US
4. The Conservative Party of UK

Question ID : 9895807216
Chosen Option : 2

Q.5 By Selling a TV for 8500 a person loses 15%. In order to gain of 5%, Selling price of TV should be:
1

Ans 1. 39,000
2. %10,000
3 %10.500
4. 39,500

Question ID : 9895807534
Chosen Option : 1

Q2-5 The difference between upper limit and lower limit of the class interval is called as:

Ans - X 1. Mode
v 2 Class size
3. Frequency distribution

< 4. Range

Question ID : 9895807549
Chosen Option : 2

Qés If (x+y):(x—»)=3:2 then (xz +}2“):(x2—-y2‘) is in the ratio of :
Ans X1 12:13

X2 512

X 3 24:5

v 1 13:12

Question ID : 9895807548
Chosen Option : 2

Qf The areas of two squares are 16:9. The ratio of their perimeter is:

Ans X 1. 9:16
X 2.12:16
Vs 16:12
X 4 9:12

Question ID : 9895807545




l Chosen Option : 1 J

|
Q.5 Rama and Hari can together finish a piece of work in 15 day. Rama works twice as fast as Hari, then Hari alone can

5 finish work in :
Ans 1. 25 days
2. 45 days
3. 20 days
4. 30 days

Question ID : 9895807540
Chosen Option : 4

Q.5 The compound interest on an amount for 2 years at 5% per annum compounded annually is ¥205. The simple interest is:

6

Ans X1 %210
v 2 2200
< 3. %250
< 4 %220

Question ID : 9895807538
Chosen Option : 1

Q.5 The Area of a rectangle is 27 m? and its length is 3 times of its breadth. The perimeter of the rectangle is:

7

Ans - 1. 28cm
& 2. 12cm
& 3. 42cm
v 4 24cm

Question ID : 9895807544
Chosen Option : 1

Qé5 A train is moving at 72 km/hrs. The distance covers in 15 minutes by the train is:

Ans X127 km
v'2 18km
< 3 36 km
< 4 28 km

Question ID : 9895807541
Chosen Option : 2

Q.5 Shopkeeper selling on article for 46 loses 8%. In order to gain of 6%, what should be the selling price of the article?

9

Ans X1 85
X 2 %65
< 3 %356
v 253

Question ID : 9895807533
Chosen Option : 3

Q.6




O The value of 30 =6 X 50f (2 + 3) - 12 (3 X 2) is equal to:
Ans X 1. 35
v 2 53
X3 82
X 4 28

Question ID : 9895807529
Chosen Option : 1

Q.6 Inaclass. the average age of 40 students is 12 years when teacher’s age is included to it, the average increases by 1. The

1 age of teacher is :

Ans X 1. 51 years
X 2. 68 years
o 5. 53 years
< 4. 48 years

Question ID : 9895807531
Chosen Option : 4

Q.6 Study the Table Properly and answer by interpreting the data
2 The table shows the percentage population of five districts in a state below poverty line and the proportion of males and

females.
District Percentage of Proportion of Male and Female
population below | Below poverty line | Above poverty line
poverty line (M:F) (M:F)
Dl 15 233 32
D2 18 34 725
D3 20 255 34
D4 25 5:2 4:3
D5 12 3:7 27

If the total population in the district D5 is 40,000, then what is the population of below poverty line in the district D5 ?

Ans 110,000
v 2. 8,000
X 3. 5,000
X 4. 12,000

Question ID : 9895807551
Chosen Option : 1

Q.6 Study the Table Properly and answer by interpreting the data
3 The table shows the percentage population of five districts in a state below poverty line and the proportion of males and

females.
District Percentage of Proportion of Male and Female
population below | Below poverty line | Above poverty line
poverty line (M:F) (M:F)
D1 15 23 3:2
D2 18 34 725
D3 20 255 34
D4 25 5:2 4:3
D5 12 3:7 217

The total population in D, is 30,000. The number of female under below poverty line in the district D is:

Ans X 1. 2500




X 23500
v 3 2700
< 4. 1800

Question ID : 9895807552
Chosen Option : 2

Qf In how many years, a sum will be thrice of it at the rate of interest 5% per annum?

Ans  of 1 40 years
X 2. 30 years
X< 3. 25 years
X 4. 20 years

Question ID : 9895807537
Chosen Option : 4

Q.6 ‘A’ pipe can empty a tank in 20 minutes. The second pipe ‘B’ has a diameter twice as that of ‘A’. If both A & B pipe are
5 attached to the tank how much time will be required to empty the tank?

Ans .
KoL 10% minutes

v &3 6§- minutes

& 3. 25 minutes
X 4. 15 minutes

Question ID : 9895807539
Chosen Option : 1

Q.6 Study the Table Properly and answer by interpreting the data
6  The table shows the percentage population of five districts in a state below poverty line and the proportion of males and

females.
District Percentage of Proportion of Male and Female
population below | Below poverty line | Above poverty line
poverty line (M:F) (M:F)
Dl 15 2:3 32
D2 18 3:4 7:5
D3 20 2:5 3:4
D4 25 52 4:3
D5 12 37 257

If the total population of district D, is 35000, then what is the number of females above the poverty line in the district
Dy?

Ans X 114,240
X 2. 10,500
v 3 11,250
X 412,450

Question ID : 9895807550
Chosen Option : 2

Q.6 Two numbers are less than a third number by 25 and 36 respectively. The percentage of first number less than second
7 number is:

Ans X' 1. 11%
v >




X3 61%
X 4 18%

Question ID : 9895807536
Chosen Option : 1

Q.6 In a university, the number of students studying science, mathematics and language are in the ratio of 2:4:9. If the
8 number of students in Science, Mathematics and Language be increased 10%, 20% and 40% respectively. What will be

the new ratio?

Ans of 1 11:24:63
& 2. 24:11:63
X 3.12:23:63
X 4 63:11:24

Question ID : 9895807546
Chosen Option : 3

Qée A wheel makes 4000 revolution is covering a distance of 60km. The radius of the wheel is:

Ans X1 8m

v 2 239m
X 3 4.68m
X 4 8.25m

Question ID : 9895807543
Chosen Option : 4

Q.7 A trader allows two successive discounts of 5% each on the marked price of a sofa set for ¥24.500. The selling price of

0 sofasetis:

Ans %1 %1,163.75
v 2 322,111.25
X 3.%23,274.75
X 4 T23.275

Question ID : 9895807535
Chosen Option : 2

Q.7 The HCF and LCM of two numbers are 12 and 240 respectively. If one of the number is 24, what is the another number
1

Ans X1 228
X 2 144
X 3. 264
v 2120

Question ID : 9895807528
Chosen Option : 1

Q.7 Inclass IX, the average of marks in science for six students was 48. After result declared, it was found in case of one
2 student, the marks 45 were misread as 54. The correct average is :

Ans X 1. 46.40
v 2. 46.50
X 3. 76.50
X 4 64.39




Question ID : 9895807532
Chosen Option : 1

Q.7 Two numbers are 20% and 40% more than the third number respectively. The ratio of the first and second number is:
3

Ans K 1.°TS
X2 76
X3 57
v 67

Question ID : 9895807547
Chosen Option : 1

Q.7 The distance between two stations is 500 km. A train starts from station ‘A’ at 9 am and travels towards station ‘B’ at 60
4 km/hrs. Another train starts from station ‘B’ at 10 am and travels towards ‘A’ at 40 km/hrs. At what time both the train

meet to each other.

Ans X' 1. 1.36 PM
& 2.12.45PM
X 3. 336 PM
v 4 224 PM

Question ID : 9895807542
Chosen Option : 2

%7 The value of 25 of 4 - 30 + (22 + 18) is:
Ans X184
V2 92
X3 37
K423

Question ID : 9895807530
Chosen Option : 4

Section : English Language

Q1 Select the antonym of the given word.

CONVENE
Ans 1. Disperse
X 2. Gather
/< 3. Summon
X 4. Request

Question ID : 9895807869
Chosen Option : 1

Q2 Select the correctly spelt word.
Ans 1. Supplementary
2. Supplementery
& 3. Suplementary




4. Suppllementary

Question ID : 9895807875
Chosen Option : 3

e ________________________________________|
Q.3 Select the most appropriate option to substitute the underlined segment in the given sentence. If there is no need to
substitute it, select No improvement.

Those who are travelling today by train may have delayed in reaching their destinations.

Ans 1. travelling today by train may get delayed
2. travel today by train may get delayed
3. travelling today in train may get delayed

4. No improvement

Question ID : 9895807858
Chosen Option : 2

Comprehension:

In the following passage some words have been
deleted. Fill in the blanks with the help of the

alternatives given.

"Success begins in the mind." This is a wonderful

quote to explain the power of having (1) in
yourself. Since (2) wants success, they all try
their best. Sometimes they will (3) failure, but

that’s what life is. Ups and downs are a part of it. All
you need is to take that failure in your (4)

learn from it and never forget it. It doesn't matter how
or where you come from, success happens to those who

(5) hands with difficulties.

SubQuestion No : 4
Q4 Select the most appropriate option that will fill in

the blank number 1.
Ans 1. disgust
#< 2. doubt

v 3. faith
< 4. discard

Question ID : 9895807862
Chosen Option : 2

Comprehension:




Q.5

Ans

Q.6

In the following passage some words have been
deleted. Fill in the blanks with the help of the

alternatives given.

"Success begins in the mind." This is a wonderful

quote to explain the power of having (1) in
yourself. Since (2) wants success, they all try
their best. Sometimes they will (3) failure, but

that’s what life is. Ups and downs are a part of it. All
you need is to take that failure in your (4)

learn from it and never forget it. It doesn't matter how
or where you come from, success happens to those who

(5) hands with difficulties.

SubQuestion No : 5
Select the most appropriate option that will fill in

the blank number 2.
/X 1. someone

< 2. each
« 3. everyone

/< 4. anyone

Question ID : 9895807863
Chosen Option : 3

Comprehension:

In the following passage some words have been
deleted. Fill in the blanks with the help of the

alternatives given.

"Success begins in the mind." This is a wonderful

quote to explain the power of having (1) in
yourself. Since (2) wants success, they all try
their best. Sometimes they will (3) failure, but

that’s what life is. Ups and downs are a part of it. All
you need is to take that failure in your (4)

learn from it and never forget it. It doesn't matter how
or where you come from, success happens to those who

(5) hands with difficulties.

SubQuestion No : 6




Select the most appropriate option that will fill in
the blank number 3.

Ans X' 1. clash
+ 2. encounter

< 3. see
/< 4. oppose

Question ID : 9895807864
Chosen Option : 1

Comprehension:

In the following passage some words have been
deleted. Fill in the blanks with the help of the

alternatives given.

"Success begins in the mind." This is a wonderful

quote to explain the power of having (1) in
yourself. Since (2) wants success, they all try
their best. Sometimes they will (3) failure, but

that’s what life is. Ups and downs are a part of it. All
you need is to take that failure in your (4)

learn from it and never forget it. It doesn't matter how
or where you come from, success happens to those who

(5) hands with difficulties.

SubQuestion No : 7
Q7 Select the most appropriate option that will fill in

the blank number 4.
Ans X' 1. run
v 2 stride
< 3 walk
< 4. wing

Question ID : 9895807865
Chosen Option : 3

Comprehension:




In the following passage some words have been
deleted. Fill in the blanks with the help of the

alternatives given.

"Success begins in the mind." This is a wonderful

quote to explain the power of having (1) in
yourself. Since (2) wants success, they all try
their best. Sometimes they will (3) failure, but

that’s what life is. Ups and downs are a part of it. All
you need is to take that failure in your (4)
learn from it and never forget it. It doesn't matter how
or where you come from, success happens to those who
(5) hands with difficulties.
SubQuestion No : 8
Q8 Select the most appropriate option that will fill in
the blank number 5.
Ans - X 1. move
& 2. avoid
< 3. see
v 4 shake

Question ID : 9895807866
Chosen Option : 4

Q.9 Select the most appropriate option to fill in the blank.

Whenever he refers to his friends he is pleased but when he talks of his foes he is
Ans X 1. serene
2. possessed
/< 3. interested
4. unhappy

Question ID : 9895807860
Chosen Option : 3

le Select the word which means the same as the group of words given.

A person who is indifferent to the pains and pleasures of life.
Ans 1. Solitary
v 2. Stoic
X 3. Introvert
& 4. Social




Question ID : 9895807874
Chosen Option : 1

Ql'l Select the synonym of the given word.

AFFINITY
Ans X 1. Decency

2. Empathy

< 3. Beauty
#< 2. Monotony

Question ID : 9895807867
Chosen Option : 4

Q2-1 Select the most appropriate word to fill in the blank.

You can master anything by the usual process of learning and practicing it

Ans 1. regularly
2. occasionally
X 3. annually

4. temporarily

Question ID : 9895807877
Chosen Option : 1

Q.1 Select the most appropriate option to substitute the underlined segment in the given sentence. If there is no need to
3 substitute it, select No improvement.

On the academic front you are likely to outshine others and take up a better career.

. you should likely to outshine others

Ans

[N

N

. you were likely to outshine others

w

. you are likely for outshine other

4. No improvement

Question ID : 9895807857
Chosen Option : 1

Q1 : s :
4 Select the most appropriate option to fill in the blank.

My forefinger is still where I caught it in the door this morning.

Ans 1. damaged

& 2. scorched
v 3. bruised
& 4. burnt

Question ID : 9895807859
Chosen Option : 2

Q.1




5 Select the most appropriate word to fill in the blank.

Your parents may get  with your lifestyle and demand a change in it.
Ans 1. pleased
v 2. annoyed
X 3. satisfied
< . fulfilled

Question ID : 9895807878
Chosen Option : 3

o1 Select the synonym of the given word.

CUMBERSOME
Ans X 1. Graceful
« 2. Heavy
& 3. Virtuous
& 4 Wonderful

Question ID : 9895807868
Chosen Option : 1

Q7'1 Select the option that means the same as the given idiom.

Call it a day
Ans 1. Disagreeing on everything someone is saying
2. Agreeing to reveal some secret information
3. Attempting to do an impossible task

4. Decide or agree to stop doing something

Question ID : 9895807871
Chosen Option : 3

Qél Select the correctly spelt word.
Ans X" 1. Bugett
& 2. Budjet
3. Badjet
4. Budget

Question ID : 9895807876
Chosen Option : 2

Qg'l Select the word which means the same as the group of words given.

One who does a thing for pleasure and not as a profession

Ans ( 1.




/< 2. Sportsperson
& 5. Volunteer
X< 4. Athlete

Question ID : 9895807873
Chosen Option : 2

%2 Select the antonym of the given word.

CONCUR
Ans X 1. T ead
& 2. Contribute
/& 3. Distribute
4. Disagree

Question ID : 9895807870
Chosen Option : 3

Q.2 From the given options, identify the segment in the sentence which contains the grammatical error.
1

You are invite to build a better community by planting a seed of peace within and a tree outside.
Ans of 1. You are invite to
2. by planting a seed of peace

#< 3. within and a tree outside
4. build a better community

Question ID : 9895807853
Chosen Option : 1

Q2 Select the option that means the same as the given idiom.

To hang together
Ans 1. to take a swing in a garden

+ 2. To be connected with each other
3. To keep holding on to something

4. To be over telephone with a friend

Question ID : 9895807872
Chosen Option : 1

Q.2 Select the most appropriate option to substitute the underlined segment in the given sentence. If there is no need to
3 substitute it, select No improvement.

Statistical measure which track the money-saving behaviour haven’t improved much.

Ans 1. No improvement

2. measures which track the money-saving behaviour

w

. measure which tracks money-saving behaviours

4. measures what track the money-saving behaviour

’



Question ID : 9895807856
Chosen Option : 1

Qf From the given options, identify the segment in the sentence which contains the grammatical error.

While we would like all Indian children to go to school, we need to ponder why they does not.
Ans X 1. While we would like
2. Indian children to go to school

3. why they does not

4. we need to ponder

Question ID : 9895807854
Chosen Option : 2

Q5-2 From the given options, identify the segment in the sentence which contains the grammatical error.

In India, the various practices and norms from bank’s transactions are laid down by the RBI only.

Ans - X1 are laid down
2. by the RBI only

v 3. norms from bank’s transactions
4. the various practices

Question ID : 9895807855
Chosen Option : 3

Section : Hindi Language

Ql f=fafda # ¥ 37 RecT & 997 H S T g W T qEraX F1 379 o BT B
- S FHrHAGT T

- S F THe H e

ST T Ul % 3 T[T

4, '\g%EITGFEF FT FLAT

Ans

[N

N

w

Question ID : 9895806652
Chosen Option : --

Q2 Rr aw g & WWifed T # sfavfia & & PBw s9gsa e &1 =097 HX|

e & o AR FU ar A& A
ws X 1 e
X 2. FeHer
ey
v o gerar

Question ID : 9895806635
Chosen Option : --

Q3 Ru 71w a@w # Wifha T3 # SorwlRa &= % v s9g#a feeT &1 797 &1
g & Hemey & T H Fal $HT TH AT ST




Ans X1 FHeGOH
2. féers

g

Question ID : 9895806634
Chosen Option : --

¥ Rea e R F T s9ged e F TI H

X F G gferw el 30 9FhS Adr T

Ans  of 1 37efY
X2 Tr
5 TG

X 4 HeFAT

Question ID : 9895806639
Chosen Option : --

Q5 frfafa & ¥ 38 RweT & T & o 'TH-GF I FeH WA HEE F 7Y T F
" ¥ % AR aR FEA e
2. HTHT H FTH FIAT
5. gferer & =0T o e

4\ FHAS HF FHH S

Question ID : 9895806651
Chosen Option : --

Q0 Rw arv a1 Fg ST A H S w1 3R d
T TE A W AT HE H gH A6 H FT AT TS HT Fe|

AnSXl.gﬁﬁﬁ fo ;'Sj'{ " |
2 HT ;@I

4. FAY T HFIT HT

Question ID : 9895806633
Chosen Option : --

Q7 fRw 1w A & WWifed Ts & Saruig &= % O sugea fwes &1 =97 #1
T ATl T FS T T L

Ans X 1. BETEIOT
X< 2 T TET
X3 T




v i gF

Question ID : 9895806636
Chosen Option : --

O R I g F BT vE aee A

=g Sar 7 31 I
Ans l_sm
X2 HT
3. HiaTFRoT
4 AT

Question ID : 9895806654
Chosen Option : --

*° Ru aIT ereg F FEA T

e
Ans  of 1. 3TeRTST
X 2 e
PRI
4. i

Question ID : 9895806647
Chosen Option : --

le e a1v I & 38 #°T A H SwE P18 IR 7
uge o o & gur & T I @ R & of Afeher 38 aF as* & ke Smar o

AS L oifehe 38 O 95 &
2. e Fmar o

4 FSUT & WHA § TR &G o

Question ID : 9895806631
Chosen Option : --

U RT 71T oeg F TAIETET oeE T TTT F|

Question ID : 9895806650




l Chosen Option : -- J

% R T g ¥ TATTAET e FT ATA FY

Question ID : 9895806649
Chosen Option : --

Qélﬁ?crmﬁma?%ﬂ':qu-d e T TTT FII

ﬁ#sﬁwgw |
Ans - X1 @TIIT
X 2. ST
3.‘!\?5T

X 4 T

Question ID : 9895806637
Chosen Option : --

Comprehension:
frafofte ey & Rea et & ofd s
& d fQr aw weat & wgEr T -

A Fear & A ¥ g AT Fr R &

v sTTw # IR T Hgeaqor (1) &l
AT ereg 7 enfees Y ¥ el e s &
T U Qe aOR AT, TS _(2)

Serar AR FHisa afsm F @y TF F I3FEr
AT AR T S8 9Rar F AT oF T g, O,
gareT 3T (3) Fr TERTwHAT AT F1 Raw
e AT 1 UF IUSH g, owe Aewn ¥ e
HOFIH _ (4) T FEOT W THa E, IUd
Feor RregRomm ik (5) &g &
gEfe 3R faes & R warers gar aftasst
F TefAATT T @IS F4T T AT R
SubQuestion No : 14

% were & wHfaE Rea T (1) F e sagsd
rec g

e el




2. 3T
X 3. FeH
< 4. HIEH

Question ID : 9895806642
Chosen Option : --

Comprehension:
frafof@a ez & Rea wu=r & 9fd aezmer
&A= fRw v geat & HgErn A -

AT Feat & AT ¥ ueg AT Fr BT &

eI ETETT F gUH TF AgeIYOT () &
AT 2reg &7 onfeger 3 & 5 &1 FF 9 &
T T @R aOR FEAT, HTTF _ (2

e 3R FHiea afsm F @ T F HFER
T JO) T S8 9fRar #§ HT o9 g, OF,
g A (3) & TFRTHAT AT g1 R
s AT FT v 3uFA g, o e AeuH ¥ gF
foreFaH (4) TF AT FT TH &, TAA
& o T gAY yarg 3k (5) A=1gg il
e A Te= & e @aers gar afeasat
H TSfAATOT FT NS Tl ST ST FehdT|
SubQuestion No : 15

% aTerer 7 Thtad Red T (2) F 0 s9gFa
rec g

Ans ) FeST
' e
2. ¢frs
S TS
4 T

Question ID : 9895806643
Chosen Option : --

Comprehension:




@ ez & Rea zu=r & 9fa sezmer
&A= T aw geat & HgErn A -

AT FqEar & Ared § Tog FAOT Hr AT AT

e sgawr @1 guA vd Ageaqor (1) &l
AT 2reg &1 onfeges 3y § T & F AT &
Tt e AR T, HETE (2)

Jerem AR Hiea 9fiss F A T F IFER
AT aOR T S8 93Rar § AT oF T g, o,
gareT A (3) Fr TFTFHAr gy g1 e
s AT FT vF 39FA g, OHe AeuH ¥ EF

fFaH (4) 9 AT T @ &, T
& za% v gAY gamw 3k (5) =g il
e R T & e @aers gar Afeasat
H TSfAAOT FT IS 7@ ST AT TehaT|
SubQuestion No : 16
Qﬁmﬁrﬁﬁ?ﬁaﬁwm@)#%ﬁm
reg grem
Ans X 1. SRTeT
> wTE
v TET
4 s

Question ID : 9895806644
Chosen Option : --

Comprehension:
ferafof@a ez & Rea wu=r & 9fd aezmer
&A= T v geat & HegErn S -

AT FEdr & AreTH § Tog AT Hr AT AT

et sgEET F JUH TF AgeaYor (1) 81
AT 2reg &1 onfeger 3 & e &t FF 9 &
T T W R AT, HETE (2)

Ser AR FHisa aftsm & @y @ F I3FER
T JOR T S8 9fFar § 8T o9rar g, O3,
g A (3) Fr TFTFHAT g g1 e
s AT FT vF 39FA g, oHe AeuH ¥ gF
ES Do re) (4) T AT FT TH &, T
& za% v gAY gamw 3k (5) #=Igd &l
e A P & e @aers gar Attt
H TefAATOT FT IS FET ST ST FehaTl

SubQuestion No : 17




G ety # wHad Red T (4) F e sugwa
eTeg gIem
AL g
.

< 3. AT
K o e

Question ID : 9895806645
Chosen Option : --

Comprehension:
el ez & Req wy=r & 9fa aezme
& dr fGw aw weat & wgEr HfTw -

AT Feat & AT ¥ Uvg AT S R g

v =eE # yUH T Ageaqor (1) g1
fAHTT eree 7 onfeea Y & Rl T I s F
T U Qe aOR AT, TS (2)

Serr AR FHisa afsm F @y TF F I3FEr
AT AR T S8 9Rar F AT oFrar g, o,
gareT 3T (3) Fr TERTwHAT AT F1 Raw
g AT FT TF IUFA g, oHe ATH ¥ EH
T (4) T HAT FT TFH &, T
& za% AT gAY garw 3k (5) FIE &
gEfe 3R faes & R w=areas gar aftasst
H TSETAATT T IS Fal STeT ST FehdT|
SubQuestion No : 18
% e # THfad Red T (5) F e sugea
e R
Ans  of 1 FHTHAT
2. FAgcaTeRTeTT
K3 JIaAT
4 sEoTIfET

Question ID : 9895806646
Chosen Option : --

QL fow a1e arr 1 9 ST A H A w5 IR P

q TH F W A Tl F 3aR adC Weg 38 FO TAS A F A
Ans 1 Feal FdIT 9o

2 T FgeaqOr FeaAl &




xs.sﬁgﬁsmﬁaamn
“ HE TH F

Question ID : 9895806632
Chosen Option : --

% Red T &1 sWE % R 39 g TS A

et & gzarsr gl
Ans o 1. el
v o gegerar
X 5. geTgear
4 fererferemar

Question ID : 9895806638
Chosen Option : --

% T TH T e F AT
Ans l_ﬁwi_\q_

Question ID : 9895806655
Chosen Option : --

U TEr I3 I o T TS FL
Ans Lm

2. W
3. QefTe]
4 m

Question ID : 9895806656
Chosen Option : --

% Rw T ewe # e\ T

HATT
Ans  of 1 HTH
2. oy
3. JIHEA
X4 3T

Question ID : 9895806648
Chosen Option : --




| . .
% Rea T # R F T 3ugEd e F A H

eanfiat # vear g

Ans L g
v 2. §ETET

3 yferrar

X 4. HEATTH

Question ID : 9895806640
Chosen Option : --

Q2 £y I FrETe F AT T o A

S efomar & ST w
A afareReha
2 AT
3. ol

Question ID : 9895806653
Chosen Option : --
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Constable (GD) in CAPFs, NIA, SSF and Rifleman (GD) in
Assam Rifles Examination, 2018

Roll No. :

Registration No.

Name :

Exam Venue : iON Digital Zone iDZ Kanti
Exam Time : 12:30 PM - 2:00 PM

Exam Date : 01/03/2019

Section : General Section

Q.1 Select the option that is related to the third term in the same way as the second term is related to the first term.
Man : Mammal : : Butterfly :
Ans 1. Caterpillar
v 2. Insect
< 3. Bird
4. Reptile

LUESHON IV . Y69o00Uc 1LoY
| Chosen Option : 1 ’

Q.2

Select the option that is related to the third term in the same way as the second term is related to the first term.

Ans KN'195 #3RUs
xl- 256
400

X 2. 256

. 196
K3 32

144

(4- 324

441

QuebliUll 1D . 96J006Uol iy
Chosen Option : 2

Q.3 If SCIENCE is coded as 14 and MATHS is coded as 10, then what will be the code for EXAMINATION?

Ans X 1. 2]
v 22
X311
X 423

UCSUuITivu . goJoovolivu

Chosen Option : 4

Q.4

A square transparent sheet with a pattern is given. Select from among the four alternatives how the pattern would appear
when the transparent sheet is folded at the dotted line.

<
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Ans -
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v 2 Egi i
st

o
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W
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!
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W

Question ID : 9895808187
Chosen Option : 1

Q5 Select the number-pair that is different from the rest.
Ans X1 7 — 49

X 2 16256
< 312-144
v 13-196

Question ID : 9895808180
Chosen Option : 4

Q.6 Six friends, Anitha, Punitha, Chithra, Deepthi, Harini and Vani, are sitting in a field. Anitha and Punitha are from the
Green house, whereas the rest belong to the Red house. Deepthi and Vani are tall, whereas the others are short. Anitha,
Chithra and Deepthi are wearing saris, whereas the others are wearing frocks.

‘Who among them is tall and from the Red house but not wearing a sari?
Ans 1. Deepthi
/< 2. Anitha
v 5. Vani
« 4. Chithra

Question ID : 9895808174
Chosen Option : 3

Q.7 Read the given statements and conclusion carefully and decide which of the following options is true with respect to the
given conclusion.

Statements:

Men who are handsome are generally of the intellectual type.
Vikram is handsome.

Conclusion:

Vikram is intellectual.
Ans 1
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+ 2 Probably true

/< 3. True
X 4. False

Question ID : 9895808176
Chosen Option : 3

Q-8 Which two signs/numbers need to be interchanged to make the given equation correct?

8+2 +4=10
Ans X1 <+ and +, 8 and 4
Koo+ and +

<3 + and + 8and?2
i1 + and +,2and 4

Question ID : 9895808181
Chosen Option : 3

Q9 Select the option in which the given figure is embedded.

/
ra

Ans

v

VAN

Question ID : 9895808184
Chosen Option : 3

Q.1 Choose the option that most closely resembles the mirror image of the given word when mirror is placed at right side.

NATION

Ans  of 1. IOITAU
< 2. UATION
< 3. NOITAN
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X 4. NATION

Question ID : 9895808186
Chosen Option : 1

Q.1 The statements below are followed by two conclusions labeled I and II. Assuming that the information in the statements
1 is true, even if it appears to be at variance with generally established facts, decide which conclusion(s) logically and
definitely follow(s) from the information given in the statements.

Statements:
Some girls are women.
No woman is brown.
Conclusions:
1. Some girls are not brown.

II.  Some women are gitls.

Ans 1. Only conclusion II follows.
2. Only conclusion I follows.

v 3. Both conclusions I and II follow.

& 4. Neither conclusion I nor II follows.

Question ID : 9895808175
Chosen Option : 2

Q.1 Seven friends — Ajith, Bala. Hari. David, Raja. Sekar and Guna — are sitting around a circular table. David is not the
2 neighbour of Hari and Raja. Ajith is the neighbour of Bala and Hari. Guna, who is second to the left of David, is the
neighbour of Sekar and Raja.

‘What is the position of Hari?

Ans 1. To the immediate left of Ajith
2. To the immediate right of Raja

v 3. Third to the left of Sekar
& 4. Second to the left of Bala

Question ID : 9895808172
Chosen Option : 2

Q3'1 Select the number that will come next in the following series.

1,5,9,17,25,37,49,65,81,
Ans X199

X 2110

< 3100

v 2 101

Question ID : 9895808177
Chosen Option : 4

Q.1 Four words have been given out of which three are alike in some manner, while one is different. Choose the odd one.

s v 1 cub
X 2. Sty
& 3. Hive
< 4 Kennel
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Question ID : 9895808166
Chosen Option : 2

Qél Select the word-pair that is analogous to the given word-pair.

Bird : Fly
Ans X 1. Cat : Kitten
< 2. Fox : Vixen
< 3. Cattle : Herd
4. Horse : Gallop

Question ID : 9895808168
Chosen Option : 4

Qél Select the number that DOES NOT belong to the following group.

1.2, 6, 21, 88, 446, 2676
Ans Xl_ 6

v 2 446

X3 21

X 4 88

Question ID : 9895808178
Chosen Option : 3

Q.1 Seven students are standing in a row. B is standing to the left of C and to the right of A. D is standing to the right of E
7 andtothe left of A. F is standing to the right of C and to the left of G. Who is standing in the middle?

ans XK1 F
F )
X 3
v

W o U

Question ID : 9895808173
Chosen Option : 4

Q8-1 Select the Venn diagram that best illustrates the relationship between the three given classes.

Carrot, Vegetables, Meat

F )

Ans
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Question ID : 9895808188
Chosen Option : 2

Q.1 In the following fraction series, two fractions have been put within brackets. Study the series carefully and select the
9 correct alternative with respect to the series.

2 4 6 8 10 12 14
ekl Jelem
Ans - X 1. Both the bracketed fractions are incorrect.

F

The first bracketed fraction (from the left) is correct and the second is incorrect.

5 3

The first bracketed fraction (from the left) is incorrect and the second is correct.

' 4. Both the bracketed fractions are correct.

Question ID : 9895808182
Chosen Option : 1

%2 Select the term that will come next in the following series.

BMO, EOQ, HQS, KSU, ;
Ans X1 MTV

v 2. NUW

X 3 NTV

X 2 NVW

Question ID : 9895808164
Chosen Option : 1

Q2 Identify the odd one from the following.
M5 ¥ famn

X 2. prt

X 3 bdf

X 4 suw

Question ID : 9895808165
Chosen Option : 1

Q.2 Four pairs of words have been given, out of which three are alike in some manner, while one is different. Choose out the
2 odd one.

Ans 1.
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v 2. Wind : Taseometer
/< 3. Current : Ammeter
4. Humidity : Hygrometer

Question ID : 9895808167
Chosen Option : 1

Qs;2 Select the figure that will come next in the following series.

% 4|2

A B C D E

Ans

X 3

v

W
x| %
A
N4

Question ID : 9895808183
Chosen Option : 3

Q.2 IfEis denoted by F, D is denoted by B. R is denoted by K. U is denoted by V, T is denoted by I, A is denoted by C, G is
4 denoted by X and H is denoted by W, then how will the word DAUGHTER be written?

Ans - X 1. BCWXVIFK
< 2. BCWXWFIK
& 3. BCVXWIKF
v+ BCVXWIFK

Question ID : 9895808171
Chosen Option : 4

Q2 Select the correct option to complete the following pattern.

Ans

XL
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v

x 3.

X 4.

Question ID : 9895808185
Chosen Option : 3

%2 Which of the following is a contagious disease?

Ans X 1. Diabetes
< 2. Stroke

v 2 Tuberculosis
< 4 Asthma

Question ID : 9895807246
Chosen Option : 2

Q7'2 In which year was the constitution of Jammu and Kashmir adopted?

Ans - X1 1954
X 2.1950
v 3 1956
X 41958

Question ID : 9895807239
Chosen Option : 3

Qéz A group of fish is called a:

Ans of 1. school
< 2. army
& 3. standard
& 4 bus

Question ID : 9895807244
Chosen Option : 2

Q.2 Inspired by the constitution of which of the given nations has India added the feature of ‘Directive Principles’ in its constitution?

9

ans X 1 USA
X 2. Germany
v 3 Treland
< 4 Russia

Question ID : 9895807241
Chosen Option : 4

%S On which day is the World Population Day celebrated?

Ans 1
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2. 18 August
3. g5t September

4 111 July

Question ID : 9895807249
Chosen Option : 1

Q.3 What was the approximate distance that Mahatma Gandhi marched for the Salt Satyagraha Movement?

1
Ans  of 1. 241 miles
&< 2. 350 miles
& 3. 400 miles

&< 4. 123 miles

Question ID : 9895807252
Chosen Option : 3

Q.3 The Bretton Woods Agreement led to the creation of which one of the following institutions?
2

Ans - X 1. United Nations
>~ 2

United Nations Educational, Scientific and Cultural Organization
3. International Monetary Fund

4. International Labour Organization

Question ID : 9895807237
Chosen Option : 1

%3 What is the national sport of China?

Ans X 1. Cricket
# 2. Football
3. Rugby
v 4. Table Tennis

Question ID : 9895807232
Chosen Option : 3

Q3 What is the first age in the prehistoric period called?
Ans 1. Palaeolithic age
2. Metal age

< 3. Copper age
4. Neolithic age

Question ID : 9895807250
Chosen Option : 4

%3 On which date is the International Mountain Day celebrated?

Ans 1.
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2. 11"™ December
3. 21d October

s, 13th January

Question ID : 9895807248
Chosen Option : 2

%3 Who is the author of the book “Flight of Pigeon™?
Ans 1. Shobha Dey

X 2. Gita Piramal
3. Sudha Murthy

+ 4. Ruskin Bond

Question ID : 9895807234
Chosen Option : 4

Q7-3 The run-and-touch game of ‘Kho Kho’ originated in which Indian state?

Ans X 1. Kerala
< 2. JTammu and Kashmir
X 3. Goa
v+ Maharashtra

Question ID : 9895807231
Chosen Option : 1

Qé3 The Living Root Bridges are a rare ecological phenomenon seen in which state of India?

Ans 1. West Bengal
2. Meghalaya

< 3. Sikkim
& 4. Mizoram

Question ID : 9895807245
Chosen Option : 1

QQB The yolk of an egg contains more than 90% of which of the given vitamins?

Ans - X1 Vitamin C
v 2 Vitamin B12
< 3. Vitamin K
& 4 Vitamin A

Question ID : 9895807243
Chosen Option : 1

Q4 : . :
~* A seesaw is an example of which concept of physics?

Ans X 1. Current
&< 2 Time
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X 3. Electricity
v 4. Force

Question ID : 9895807242
Chosen Option : 2

Q.4 While trying to promote growth by tax cuts as the fiscal policy. which type of policy is the government trying to follow?
1

Ans 1. Expansionary
2. Contractionary
/< 3. Easy money
4. Tight money

Question ID : 9895807236
Chosen Option : 1

Q.4 Who among the following has been conferred the Rajiv Gandhi National Sadbhavana Award 2018?
2

Ans X 1. Anna Hazare
X 2. Medha Patkar
3. Kailash Satyarthi

4. Gopalkrishna Gandhi

Question ID : 9895807235
Chosen Option : 2

Q3-4 Urs Festival in Ajmer commemorates the death anniversary of which Sufi Saint?

Ans 1. Khwaja Moinuddin Chisti
& 2. Hazarat Nizamuddin
< 3. Mian Mir
& 4. Salim Chishti

Question ID : 9895807229
Chosen Option : 2

Q44 ‘Kunbi Dance’ is a popular dance associated with which Indian state?
Ans - X 1. Mizoram

X 2. Sikkim

A 2 Jammu and Kashmir

v i Goa

Question ID : 9895807228
Chosen Option : 1

Qé4 Who was the legendary co-founder and retired chairman of Indian tech giant Infosys?
Ans - X 1. Ashish Goel
2. N R Narayan Murthy
# 3. Yashish Dahiya

Page 11 of 36




4. Navneet Singh,

Question ID : 9895807233
Chosen Option : 2

Q.4 What do we call the stock of food grains purchased by the Government of India from the farmers through the Food
6 Corporation of India (FCI)?

Ans - X 1. Incentivized stock
< 2. Return stock
< 3. Subsidized stock
v 1 Buffer stock

Question ID : 9895807238
Chosen Option : 4

Q7-4 In which year did the French traveller Francois Bernier arrive in India?

Ans X1 1656
v 2 1658
& 3. 1678
X 4. 1662

Question ID : 9895807251
Chosen Option : 4

Qg';4 What does the 103 constitutional amendment deal with?
Ans - X 1. Women’s reservation
v 2. Economic reservation
3. Right to education

4. Right against exploitation

Question ID : 9895807240
Chosen Option : 4

Qé"' In which year did Emperor Akbar build the Buland Darwaja?

Ans - X1 1502
& 2. 1526
& 3. 1534
v 4 1601

Question ID : 9895807230
Chosen Option : 4

%° Which of the following is the longest river in Europe?
Ans 1. Mekong
< 2. Zambezi
3. Sepik
v 4 Volga

[ Question ID : 9895807247
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l Chosen Option : 3

Q.5 A,Band C can do a piece of work in 20, 40 and 80 days respectively. In how many days can A do the work if he is
1 assisted by B and C on every third day?

Ans 1. 7 days

2. 15 days
3. 18 days
4. 16 days

Question ID : 9895807569
Chosen Option : 2

Q.5 Case A. In a certain store, the profit is 340% of the cost.
2 Case B. If the cost increases by 32% but the selling price remains constant, approximately what percentage of the
selling price is the profit in case A?

Ans - X1 100%
X 2.32%
v 3 70%
& 4. 320%

Question ID : 9895807562
Chosen Option : 4

Q.5 A circle, with radius 8 cm, which has the area equal to the area of a triangle with base § cm. Then the length of the
3 corresponding altitude of triangle is:

Ans X1 387 cm
V2 16T cm
X3 87T cm
X 4187 cm

Question ID : 9895807572
Chosen Option : 3

Q.5 The captain of a cricket team of 11 members is 28 years old and the wicket keeper is 4 years older than him. If the ages
4 ofthese two are excluded, the average age of the remaining players is two years less than the average age of the whole
team. What is the average age of the team?

Ans X1 15 years
X 2. 22 years
o 5 21 years
< 2. 29 years

Question ID : 9895807557
Chosen Option : 2

Q.5 Two numbers are respectively 25% and 50% more than a third number. The ratio of the first number to second number
5 i

as X112
X2 2:1
X 3.6:5
v 56

Question ID : 9895807563
Chosen Option : 1

Page 13 of 36



Qs 24
5 A& :-4+<x2—3 of 4 is

Ans X' 1.
X 2
X 3.
v

O L o

Question ID : 9895807554
Chosen Option : 4

Q.5 A hollow iron pipe is 28 cm long and its external diameter is 10 cm. If the thickness of the pipe is 2 cm and iron weighs
7 5g/cm? | then the weight of the pipe is:

Ans of 1 704 g
K2 7.04¢g
X3 T4g

X4 740¢g

Question ID : 9895807573
Chosen Option : 1

Q.5 A train can travel 50% faster than a car. Both start from point A at the same time and reach point B, 60 km away from
8 point A, at the same time. On the way, however, the train lost about 12.5 min while stopping at the stations. The speed
of the car is:

Ans X 1. 130 km/h
< 2. 100 km/h
& 3 110 km/h
v 1 96 km/h

Question ID : 9895807571
Chosen Option : 4

Q.5 The following pie-chart shows the percentage distribution of the expenditure incurred in publishing a book. Study the
9  pie-chart and answer the questions based on it.
Various Expenditures (in percentage) Incurred in Publishing a Book

Transportation

Printing Cost

Binding Paper Cost

20% 25%

Royalty on the book is less than the paper cost by:
Ans X 1. 25%
X 2. 30%
X 3. 50%
v i 40%

Question ID : 9895807577
Chosen Option : 3

Q6
0

Ans
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X117
X210
v 11
X4 8

Question ID : 9895807559
Chosen Option : 4

Q.6 The following pie-chart shows the percentage distribution of the expenditure incurred in publishing a book. Study the
1  pie-chart and answer the questions based on it.
Various Expenditures (in percentage) Incurred in Publishing a Book

Transportation
Cost
Printing Cost 10%

Royalty
15%

Binding Paper Cost

20% 25%

‘What is the central angle of the sector corresponding to the expenditure incurred on binding?
Ans “ 1. 72 o
K2 90°
<3 48°
X4 70°

Question ID : 9895807576
Chosen Option : 2

Q.6 A family consists of two grandparents, three parents and four grandchildren. The average age of the grandparents is 65
2 years, that of the parents is 32 years and that of the grandchildren is 8 years. What is the average age of the family?

Ans - X 1. None of these
v 28% years
< 3. 28 years

X a 28% years

Question ID : 9895807556
Chosen Option : 3

Q.6 A person has planned to sell his old typewriter for ¥4500. he would lose 10%. To gain 20% of profit. he should sell it

3 for:

Ans of 1. %6000
X< 2. %7000
< 3. %7200
X 4. %8500

Question ID : 9895807561
Chosen Option : 1

Q.6 Salaries of Ravi and Sumit are in the ratio 2:3. If the salary of each is increased by ¥3000, the new ratio becomes 35:50.
4 What is Sumit's new salary?

Ans 1. 18,000
X 2.%21,000
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X 3.%327.000
4. %30,000

Question ID : 9895807565
Chosen Option : 2

Q.6 The compound interest on ¥40,000 at 6% per annum is ¥4,944, What is the period (in years) for which the amount is

5 invested?

Ans X" 1 5 years
X 2. 4 years
< 3. 3 years
o 2 2 years

Question ID : 9895807567
Chosen Option : 2

Q.6 Ahallis 15 m long and 12 m broad. If the sum of the areas of the floor and the ceiling is equal to the sum of the areas of
6 four walls, the volume (in m?) of the hall is:

Ans X 1. 1600
& 2. 900
v 51200
X 4. 720

Question ID : 9895807574
Chosen Option : 4

Q.6 If a person had walked at the speed of 15 km/h instead of 10 km/h, he would have walked 25 km more. The actual
7 distance travelled by him was:

Ans X170 km
< 2 56 km
V'3 50 km
< 4 80 km

Question ID : 9895807570
Chosen Option : 1

Q.6 Raman paid ¥13.300 as simple interest after 9 years. He had borrowed some money at the rate of 6% for first two years,
8 at 9% for next three years and at 14% for rest of the period. How much money (in ) did he borrow?

Ans X" 1.10,000
v 2. 14,000
X 312,500
X 412,000

Question ID : 9895807566
Chosen Option : 3

Q9'6 If 15 workers can earn 31,800 in 10 days. Find the earning (in ) of 5 workers in 8 days.

Ans - X 1. 400
X 2. 360
X 3540
v 4 480
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Question ID : 9895807568
Chosen Option : 2

e _____________________________________________________________|
Q.7 The following pie-chart shows the percentage distribution of the expenditure incurred in publishing a book. Study the

O pie-chart and answer the questions based on it.

Various Expenditures (in percentage) Incurred in Publishing a Book

Transportation
Cost

Print Cost
Royalty Y 2'%%,0 2 R0

Paper Cost
25%

Question:
If for a certain quantity of books, the publisher has to pay 30,600 as printing cost, then what will be amount of paper
cost to be paid for these books?

Ans 1. 328,250
2. 38,250
3. ¥38,000
4. 330,250

Question ID : 9895807575
Chosen Option : 1

Q.7 Find the greatest number that will divide 47, 95 and 187 so as to leave the same remainder in each case.
1

Ans XK1 7
X2 13
X3 9
via

Question ID : 9895807553
Chosen Option : 4

Q.7 Raj got a new chair at 35% discount. Had Raj got no discount, Raj would have had to pay ¥238 more. How much did
2 Raj pay for the chair?

Ans X1 %452
V2 %442
< 3 %416
< 4 %424

Question ID : 9895807558
Chosen Option : 2

Q.7 In a mixture of 60 L, the ratio of milk and water is 2:3, then the quantity of water in the mixture is:
3

Ans X1 20 L
X 2 45L
v 36L
X4 16L

Question ID : 9895807564
Chosen Option : 3

Page 17 of 36




Q7 What percentage of numbers from 1 to 80 have 1 or 9 in the units digit?

Ans X1 1%
v 2. 20%
X3 21%
X 4. 14%

Question ID : 9895807560
Chosen Option : 3

%7 Simplify:

8.65 - [4+ 0.5 of (8.8 - 2.3 x 3.5)]

Ans X1 4,725
v 2 4275
X 3. 3.275
X 4 4.527

Question ID : 9895807555
Chosen Option : 3

Section : English Language

Q1 Select the word which means the same as the group of words given.

Someone in love with himself.
Ans 1. Philologist
& 2. Humanist
v 3 Narcissist
4. Philanthropist

Question ID : 9895807900
Chosen Option : 2

Q.2 From the given options, identify the segment in the sentence which contains the grammatical error.

The book provide ample guidance and practice in learning English conversations effectively for all age groups.

Ans 1. The book provide

N

. for all age groups

w

. ample guidance and practice

4. in learning English conversations

Question ID : 9895807880
Chosen Option : 4

Q.3 Select the most appropriate option to fill in the blank.

Sometimes a person's intelligence is not fully appreciated he/she gets an opportunity.

Ans 1. upto
< 2 later
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v 3 until
& 4. unless

Question ID : 9895807886
Chosen Option : 1

Q.4 Select the most appropriate option to substitute the underlined segment in the given sentence. If there is no need to
substitute it, select No improvement.

Passengers are requested to go for security check before they proceed to board the flight.

Ans 1. are request to go for
2. are requests to go for
3. are requesting to go for

4. No improvement

Question ID : 9895807884
Chosen Option : 1

Q.5 Select the most appropriate option to substitute the underlined segment in the given sentence. If there is no need to
substitute it, select No improvement.

My neighbour along with his children is going tonight to watch a movie based over the life of martyrs.

Ans 1. a movie based on the life of martyrs
2. No improvement
3. a movie basing on life of martyrs

4. a movie base on the life of martyrs

Question ID : 9895807882
Chosen Option : 1

Comprehension:
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In the following passage some words have been
deleted. Fill in the blanks with the help of the

alternatives given.

Obesity can be (1) by eating healthy food and
increasing physical activity. There is no need to alter
the quantity of the food but the quality of the food must
be (2) and improvised. Avoiding red meat,
oily food, extra fats in form of ghee, butter etc. can
dramatically help to reduce the weight. Moreover, if
the right eating is accompanied (3) physical
work out, it becomes the perfect way to lose weight
and stay healthy. In some patients (4) is also
carried out. The choice of the treatment (5) on
various factors and the decision is taken by the
physician by thoroughly examining the patient.

SubQuestion No : 6
Q.6 Select the most appropriate option that will fill in

the blank number 1.
Ans 1. magnified
2. destroyed

& 3. tolerated
4. managed

Question ID : 9895807888
Chosen Option : 4

Comprehension:
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In the following passage some words have been
deleted. Fill in the blanks with the help of the

alternatives given.

Obesity can be (1) by eating healthy food and
increasing physical activity. There is no need to alter
the quantity of the food but the quality of the food must
be (2) and improvised. Avoiding red meat,
oily food, extra fats in form of ghee, butter etc. can
dramatically help to reduce the weight. Moreover, if
the right eating is accompanied (3) physical
work out, it becomes the perfect way to lose weight
and stay healthy. In some patients (4) is also
carried out. The choice of the treatment (5) on
various factors and the decision is taken by the
physician by thoroughly examining the patient.

SubQuestion No : 7
Q7 Select the most appropriate option that will fill in

the blank number 2.
Ans of 1 checked

< 2. decreased
3. distinguished

< 4. satisfied

Question ID : 9895807889
Chosen Option : 1

Comprehension:
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In the following passage some words have been
deleted. Fill in the blanks with the help of the

alternatives given.

Obesity can be (1) by eating healthy food and
increasing physical activity. There is no need to alter
the quantity of the food but the quality of the food must
be (2) and improvised. Avoiding red meat,
oily food, extra fats in form of ghee, butter etc. can
dramatically help to reduce the weight. Moreover, if
the right eating is accompanied (3) physical
work out, it becomes the perfect way to lose weight
and stay healthy. In some patients (4) is also
carried out. The choice of the treatment (5) on
various factors and the decision is taken by the
physician by thoroughly examining the patient.

SubQuestion No : 8
Q8 Select the most appropriate option that will fill in

the blank number 3.

Ans of 1 with
X 2 of
< 3 at
X 4 for

Question ID : 9895807890
Chosen Option : 4

Comprehension:
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In the following passage some words have been
deleted. Fill in the blanks with the help of the

alternatives given.

Obesity can be (1) by eating healthy food and
increasing physical activity. There is no need to alter
the quantity of the food but the quality of the food must
be (2) and improvised. Avoiding red meat,
oily food, extra fats in form of ghee, butter etc. can
dramatically help to reduce the weight. Moreover, if
the right eating is accompanied (3) physical
work out, it becomes the perfect way to lose weight
and stay healthy. In some patients (4) is also
carried out. The choice of the treatment (5) on
various factors and the decision is taken by the
physician by thoroughly examining the patient.

SubQuestion No : 9
Q.9 Select the most appropriate option that will fill in

the blank number 4.

Ans 1. amputation
W 2. surgery
3. segmentation

< 4. dissection

Question ID : 9895807891
Chosen Option : 3

Comprehension:
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In the following passage some words have been
deleted. Fill in the blanks with the help of the

alternatives given.

Obesity can be (1) by eating healthy food and
increasing physical activity. There is no need to alter
the quantity of the food but the quality of the food must
be (2) and improvised. Avoiding red meat,
oily food, extra fats in form of ghee, butter etc. can
dramatically help to reduce the weight. Moreover, if
the right eating is accompanied (3) physical
work out, it becomes the perfect way to lose weight
and stay healthy. In some patients (4) is also
carried out. The choice of the treatment (5) on
various factors and the decision is taken by the
physician by thoroughly examining the patient.

SubQuestion No : 10
Qél Select the most appropriate option that will fill in

the blank number 5.
Ans - X 1. avoids
2. depends
< 3. ignores
X 4. loathes

Question ID : 9895807892
Chosen Option : 2

Ql'l Select the option that means the same as the given idiom.

To pull oneself together
Ans 1. To hide important facts and reasons
2. To put necessary matters on the table
3. To keep working constantly with attention

4. To calm oneself and begin to think or act

Question ID : 9895807898
Chosen Option : 1

A — .
Qz Select the correctly spelt word.

Ans of 1 Rehearsal
< 2. Rehersal
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& 3. Reehersal
& 4 Rehearsel

Question ID : 9895807901
Chosen Option : 4

Q3'1 Select the option that means the same as the given idiom.

To be fair and square

Ans X 1. To be fair in colour
v 2. To be honest
3. To be good at drawing

4. To be in a good physique

Question ID : 9895807897
Chosen Option : 2

Q.1 Select the most appropriate option to substitute the underlined segment in the given sentence. If there is no need to

4 substitute it, select No improvement.

No sooner he has returned to home than his boss called him for an urgent meeting.
Ans o 1. No sooner had he returned home
< 2. No sooner he returned to home
# 3. No sooner he have returned to home
4. No improvement

Question ID : 9895807883
Chosen Option : 4

%1 Select the antonym of the given word.

EXTRAVAGANT
Ans  of 1. Economical
< 2. Factual

X 3. Untrue

< 2. Wonderful

Question ID : 9895807896
Chosen Option : 1

Q.1 Select the most appropriate word to fill in the blank.

6
A person’s individual risk for many diseases most often _ from a combination of genes, environment and lifestyle.
Ans  of 1 stems
X 2. checks
3. diagnoses
< 4. stops

Question ID : 9895807904
Chosen Option : 4

—
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Q7-1 Select the most appropriate option to fill in the blank.

People can only form new habits when they particular patterns of behaviour.

Ans

[E=N

. has adopted

N

. having adopted
. had adopted

w

N

. have adopted

Question ID : 9895807885
Chosen Option : 3

Q.1 From the given options, identify the segment in the sentence which contains the grammatical error.
8

Taking the help of people with rich experience of life will saves you much time and effort.

Ans 1. Taking the help of

2. much time and effort
3. people with rich experience

4. will saves you

Question ID : 9895807881
Chosen Option : 4

%! Select the synonym of the given word.

STRAY

Ans X 1. Slight
v 2 Wander
X 3. Steady

X 2. Gruesome

Question ID : 9895807894
Chosen Option : 1

Q.2 From the given options, identify the segment in the sentence which contains the grammatical error.
0

Just because you are learning a language does not mean you need to limiting your thinking.
Ans X 1. does not mean
2. need to limiting your thinking
& 3. Just because
4. you are learning a language

Question ID : 9895807879
Chosen Option : 2

Q2 Select the most appropriate word to fill in the blank.

This is a good time for all of us to a new year’s party.

Ans 1.
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& 2. initiate
X 3. invite
4. organize

Question ID : 9895807903
Chosen Option : 4

Q2 Select the word which means the same as the group of words given.

A large number of fish swimming together.

Ans X1 Herd
X 2. Pack
3. Mob
v 4. Shoal

Question ID : 9895807899
Chosen Option : 2

2 :
Q3 Select the synonym of the given word.

ADULTERATED
Ans X 1. Combined
< 2. Fused
v 3. Contaminated
& 4. Concentrated

Question ID : 9895807893
Chosen Option : 4

Q2 Select the correctly spelt word.
Ans 1. Quantetative

2. Quantitativ

3. Quantitetive

4. Quantitative

Question ID : 9895807902
Chosen Option : 1

%2 Select the antonym of the given word.

BENIGN

Ans of 1. Hostile
< 2. Amiable
X 3. Mild
& 4 Genial

Question ID : 9895807895
Chosen Option : 3
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Section : Hindi Language

Q1 Rr=fafea # ¥ 38 RFes & 79 & 3t 9 @y & I ar Fga F1 37 ;aFd FIAT ¢
RS e T

z.gﬁmm

3 3T

4 §TT g F Wolam

Question ID : 9895806677
Chosen Option : --

Comprehension:
ferrafaf@a ez & Rea wuar & qfS aezmr &
A T ITT et ¥ AR S -

FEIEET & 3N AT H AT F 919 J9HT HIA
(1) Fr @ Fr o cafEace FrEa @
FET, 3THT (2) Fr W 8| Ferfaa @
FROT 37! STeral H off TF (3) &, aerar
F off v AR gfoRy g, 3 39 Flaar &
HFH 3% T H FAER T ¢l Fiaar F ar 39
T = T RfRSe oE-wEe F, 3ES i
(4) FT FFET IaT AGT TAAT| ST H TEr
FlacT 3w arg Tufodt @, F=7 e s #
Shaareeifa & wr-9eT srreifara aRenf¥a grar =
g1 FAEEE & T AT AR FfEeET 7
T VI AR (5) Hare ufed U= e
T gl
SubQuestion No : 2
°* gy & wHfaa ReFa T (1) & e e
rec g
ans of 1 FEET
2 giegreq
5. cafdaa
X 4 39eTcd

Question ID : 9895806668
Chosen Option : --

Comprehension:
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frafof@a searer & Rea wu=t # 9fd gz &
A fow IrT et F e HfSv -

FEIEET & 3HN AT H A F TG J9H HIA
(1) Fr @ & ofr| FFae Hr o= &
R, 3THT (2) Fr W 8| FeraT @
FHROT 3T Sgeral H off TF (3) &, Jerar
H off To 3aRe® SR §, S 399 Fiaar &
HOH 3% T H FAPR T ¢l Fiaar F ar 39
INT F I ARIST aa-gw@T F1, 3HF ifd
_ (4) T 3FER IAT AET O] TeT H T
Fiaca o arg Fufadt ¥, @9 9ea I &
Shraereeifa & w997 srreifera aRenf¥a grar =
g1 AEIEET & T AT R FfEerT F ww
AT I AR (5) Tare ufed = arar
T B
SubQuestion No : 3
*% aremier # WHad Red T (2) F v sugEa
e grem
SR NEC
X 2. GHeAdT
5 TR
4 farserar

Question ID : 9895806669
Chosen Option : --

Comprehension:
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SubQuestion No : 4
>4 aremrer # wHaa Rea T (3) & v sugEa
AT BT
AL waRar
X< 2 TEar
5. fosgTar
X 4 AT
Question ID : 9895806670
Chosen Option : -
Comprehension:
ferrafaf@a ez & Req wu&r & qfd aezmr &
A fow arT oAt F AR S -
FECET o SH WA H A F 91 AIHT 3
(1) & @ Fr o) TFacT H @ &
R, 3 (2) Fr @t off| Farf=a 4@
FHROT 37! STgeral H off T (3) &, Jerar
7 off v aftes gy g, S 3T Higar &
HOF 3AF e H FAFR T | Fiaar & ar 37
YT = T RfRrse qE-wEe F, 3ES @i
(4) FT HFE IaT FAET TAAT| ST H TEr
FacT 3w arg Tufodt @, F=7 v s #
Shraaregeifa & wr-9eT srreifara aRenf¥a grar =
g1 TS & T AT AR FfgeET F o
IHeTa VI AR (5) TaTe ufed w1 arem
T B
SubQuestion No : 5
*° ey # THad RFd T (4) F e e
reg g
X 2. AR
s AR
X 4 HTHR
Question ID : 9895806671
Chosen Option : -
Comprehension:
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fafafia ez & Rea wuer @ 9f ez &
A fow aTT et F e HfSv -

FEICET & 3HN AT H A F TG J9H HIA
(1) & @1 # ofr| FFaT Fr @ &
FET, 3THT (2) Fr @ &f| FeraT @
FHROT 3T STeral H off TF (3) &, Jerar
7 &ff v 3afs gfoj §, S 33 Flaar &
HOFH 3% T H 3AER g1 ¢l Fiaar F ar 389
T = T RfRrSe qE-wEe F, 3ES i
(4) T FFEI IAT FAGr TJAIT| TET H T
Fiaca arw arg Fufadt ¥, @9 9ea I &
Shraereeifa & wr-9eT srreifara aRenf¥a grar =
g1 TS & T AT AR e Foww
AT I AR (5) Tare ufed w1 arar
T gl
SubQuestion No : 6
°° sty # wafad Red Tu= (5) F e sugea
reg g
A1 i

Question ID : 9895806672
Chosen Option : --

Q7 v 1w g & Wwifda @5 @ sfaruia &= F e suged RweT &1 =97 #X
FUMST 3T U T $RIY_GTILT el B
v T
X 3 HIeTT
o fAgenw

Ans

Question ID : 9895806662
Chosen Option : --

Q8 Rw 71w arew # w@ifha @ # worwlRa &= % BT s9gwa e &1 99 #{
HeF W 9 e [HW W HEE &, TE] F G Al A0
as X 1 3o

2. gigae
3. JHE
v . FersT

Page 31 of 36




Question ID : 9895806661
Chosen Option : --

Q'gﬁvmaﬁmﬁa’aﬂwgﬁl

a
Ans X1 FHTST
X 2 HIET
X 3. e
A [

Question ID : 9895806673
Chosen Option : --

leﬁvmmwagmmﬁﬁmﬁaﬂégﬁr%l
Aget T HH FT T T2 & GoeR B
Ansxl.o %[

X 2. 3T FT FET
s wE A

' FEA F

Question ID : 9895806658
Chosen Option : --

Ql-l e & & 38 RweT & 99 FY S ‘So-aTa a9 qgrEY AT Ta T g
ANS L gt Y ST

2 HTEAT § FI4T

5 THS W HSATE T T

. FRSE g

Question ID : 9895806678
Chosen Option : --

Qélﬁaﬁwmafrma:%vsqgmmqa:rwd FI

W AT F TET g gl

Ans

> wfe
X 5w

Question ID : 9895806666
Chosen Option : --
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% Rea e # s F T s9ged e F T A

A AEAT FEI P FHOT gul
Ans Lm

X 2. 9rETe

v 3 gwe

X 4 HOw

Question ID : 9895806663
Chosen Option : --

U R AT oee F TATETE e F TTT FHY

3ATHYUT

N

Ans

Question ID : 9895806676
Chosen Option : --

U Ry T T F AT T o S

s 7@ 15 g 7 &
Ans 1.3@“

Question ID : 9895806679
Chosen Option : --

% R v g & fFEw I
o
Ans 1. g@'
2 g
3. Hiemaw

. gt

Question ID : 9895806674
Chosen Option : --

Q.1
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" R T e F BT T e A
FH S IR e
Ans l_m

Question ID : 9895806680
Chosen Option : --

% Ru aIe aw & 9 o9 A9 = S F8 IR d
AT T F I 19T AFT TH Tl AT TR F AT
X 1 TF Gar @ Aer
X 2 o9FT AAT
3§ | ST
o AT I ¥ @

Ans

Question ID : 9895806659
Chosen Option : --

% Roa T @ R & R 39gEa e # 9T F

T F3T gl
Ans X 1. HTAT
K2 TaT

3 oIS

2 4 ATAT

Question ID : 9895806664
Chosen Option : --

%? fw aTw AR @ g AT AT HY o FE IR

S ot 30w afsm a8 wtar 3 afen F gvoar god FE Fan
Ans L Y aftsm FET wear
> S =afEa
3. FweIdT WTod FET AT
o F gftem A

Chosen Option : --
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! R o o # wifea w3 7 sforafia @ & v svges Rees &1 9 #i
STTETH FEUT $7d,_IHI R sy &t gmw A 9
K et
2. Rreprergeft
5. gyt
4. qrreeft

Question ID : 9895806660
Chosen Option : --

%’ TEr I T U F TAT F
s AR

Question ID : 9895806681
Chosen Option : --

% R T qec F TATETEN e F TTT FI

aifa

Ans 1. g.lﬁ.
X2 g
X 4 eTAEAT

Question ID : 9895806675
Chosen Option : --

% R e &1 st F T 39y e o9

FIAT FIETA ST H
Ans 1. ﬁ'
. &

v
PRy

Question ID : 9895806665
Chosen Option : --

% FEr IHT I U F TIT FT

Ans 1.
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X 2. SAfegrer
v o Fegrer

Question ID : 9895806682
Chosen Option : --
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